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LI: To be able to find halves within word problems
	I am able to understand that a half is splitting a whole into 2
	

	I am able to use a bar model to work out how to find a half. 
	


Answer the word problems. Use a bar model to help your understanding if needed. 
Miss Petty shares 14 sweets between her and her nephew. How many sweets will they have each?   
	

	


Answer: ___________________________________
Miss Ahmed shares 18 apples between her and Miss Petty. How many apples do they have each?
	

	



Answer: ___________________________________
Mr Tolson shared 36 dog treats between Rico and Jasper. How many treats did each dog get?                                                       
	

	



Answer____________________
Lara shares 24 unicorn toys between her and her mum. How many unicorn toys do they have each?
	

	



